STAT319 Final Exam Formula Sheet
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P(AUB) = P(AB') + P(A'B) + P(AB).
P(AUB) = P(A) + P(B) — P(AB).
P(AUB)=1-P(AUB) = 1-P(AB)).
P(AB) = P(A'UB)).

P(AB)

P(A[B)= P(B)

P(B)=0;, P(AB)=P(A)P(B|A)=P(B)P(A|B)

P(A|B)=P(A)=P(A|B), P(AB)=P(A)P(B). .
Discrete Probability Distributions

p=E(X) =Y xf(x).

E(X?) =YX f(x), o =E(X —u)® =E(X?) -4~

f(x)= (;j p*q"™; x=01..,n; 0<p<L q=1-p; g=np, o° =npq.
f(x)=0"p, x=0,12,---; q=1-p; u=1/p, o’ =q/ p°.

f(x):(tj(N _K]{Nj , max{0,n—(N —-K)}<y<min{n,K}; z=np,

n—x n

o’=@1-c)npg, (N-1)c=n-1, p=(K/N), g=1-p.

f(X)=@eM; x=01,..; u=At, o> = At.
X!
Continuous Probability Distributions

b k
Pla<X <b)=[f(x)dx P(X <k)= [ f(x)dx where Kis a particular value of X.

a —0

u=EgE(X)= T x £ (x)dx.
E(X?) = T x? f(x)dx, o=V (X)=E(X?) -z~

X ~N(u6%), Z=2"*-N(@,)
O

ot

1
f(x)= 1™, x>0, u==,
(x) H 1 PE
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